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. Note :— (i) Answers may be written either in- English or in
Hindi; but the same medium should be used
throughout the paper.

(ii) The maximum marks printed on the question
paper are applicable for the students of the
regular colleges (Cat. ‘A’). These marks will,
however, be scaled up proportionately in
respect of the students of NCWEB at the
time of posting of awards for compilation
of result.
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f.Itt_empt» any five questions.
ANl questions carry equal marks.
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1. (a) Explain the income method of computing GDP at
- matket price with a proper explanation of its

components. (10)
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(b) Explain the difference between. Gross domestic
product and Gross National product. (5)
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- 2. (a) Usiﬁg suitable diagrams explain.how equilibrium
level of national income is determined in an
economy in terms of Aggregate Demand approach.
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(by 1f the consumption function is given as
C =100+ .8Y, derive the saving function.  (3)
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3. (a) What are IS-LM curves ? How are they derived ?
(10)
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(b) Show the effect of an increase in the money supply
on the LM curve. (5)
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4. (a) Explain why a specific increase in autonomous

spending leads to a greater increase in national

Income. (10)
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(b) How the value of investment multiplier ‘is’

determined in a two sector model. (5)
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5. What do you understand by “money” ? Discuss the

reasons for holding money. (5,10)
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6. (a) Using the relationship between aggregate

expenditure and price level, explain the derivation

of the aggregate demand curve.
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(b) Outline how the interaction of the aggregate

"demand and short run aggregate supply curve

determine the equilibrium level of GDP & the price
level in response to (a) rise in wage rate (b) a

reduction in governiment expenditure.
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7. Whét do you understand by Balance of Payments ?
Is it possible for current account to show deficit while
capital account is in surplus ? Explain. (15).
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8. Write short notes on any TWO :
(a) Quantity theory of mbney
(b) Process of credit creation

(c) Relationship between personal disposable income
& consumer spending (7.5,7.5)
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